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Name: t-t_’;g: Date: 12/17/2015 Algebra I — Semester Test

1) Solve the ‘foTlowing equations for the given variable. Be sure to show all your work!
ajx-4=10 b) 7x = 21

Xz x=3.

2) Identify the independent and dependent variables in the following scenarios.
a) As the wind increases, the fires spread faster.
b) Once the rains comes, the pfants grow. —

= ) —

3) Solve the following equations for the given variable. Be sure to show all your work!! Leave
your answers in the simplest fraction form.

a)3x- 4= 10 T DI+ 7=21 -
X = 53 )3 X = 9’2,

4) Give two different ways of saying the expression: 3x

a) 3 imes ¥

b) Fhe !-”/t-’;”f‘m:';" c'p 2 a«w/ X,

5) Solve the following equations for the given variable. Be sure to show all your work!!! Leave
your answers in the simplest fraction form.

a) =7(4m - 7) = 35 ‘ b) 2(6x + 9) = 6(2x + 3)
—
L AN Reals.
- 2

6) Solve the following equations for the specified variable. Be sure to show all your work!11!
Leave your answers in the simplest fraction form.,

: L= @w T = —E-'J’i/
a) Solve for / z. b) Solve for T e
P=2w+ 2] PV = nRT

7) Which side should the variable always be on to properly graph an inequality?
o Lot

8) Graph the following inequalities. o -

a)4 > x byx=z 3 i

@%’9 7

9) Identify what type of correlation you would expect for each of the following data

sets.(positive, negative, or no correlation)

a) The number of mistakes you make and the size of your eraser # 4/

b) The number of animals hibernating and the coldness outside

c) The number of cats on a farm and the number of times Chris stubs his toes /17,

10) Solve the fol lowing inéqualities for the given variable and graph your answers. Be sure to
show all your work!

a)x- 5> 12 b)6x < 108
X 217 A &ly

g7 (g



11) Solve the following inequalities for the given variable and graph all your answers. Be sure to
@ show all your work!! Leave your answers in the simplest fraction form.

a)-3x-4< 19 b):- 8> 25
Kz“? X 765

12) Solve the following inequalities for the given variable and graph your answers if you can. Be
@/ sure to show all your work!!! Leave your answers in the simplest fraction form.
2) #3(4m+ 21) = —36~ ) b)-1- 5x> -3x- 2x
< gz me Tf{ /’b Gilnt e
13) Given the following function, graph it over the given domain. Use graph paper!!

@ a)f(x): 2x + 3,DZ{—1.O:2:3}
&

14) Graph the following function. Use graph paper!!
a) f(x) = |x}- 2

15) Given the following information, find the first five terms of the sequence.

a)a, = 3and d = -2 3, I)vf) -3 -5

3 X)L! & *é—zl
(C) a)4lx-5l= -16 o) Jx = 1] 587> »2

14” f?e-tfj.

17) For the following graphs, a) state the domain and range and b) is it a function?

@ IT) T }9 E% L{?

) T
R(=t4)

&
O 16) Solve the following inequality:

EE T 5)
; '-‘ oAl g,'EZ,S')

{0 I U A W A Y ' .___i.. i
tLE. I i} L b bhap

LYY
By

M,

18) Given the following information, find the next four terms in the arithmetic sequence.

@ a)—4,~7,-10,-13,.. 6, ~Iq, <23 ~2%"

b) 505,512,519,526, ... ¢33 sy sy7 S5

19) Find the given term for each arithmetic sequence. Show all your wark!

CZ) a) 5,10,15,20, ...;17" term .,z s+ (I)(5) = 55,
@ 20) Solve the following i;;eq.‘l:xality and graph your solutions: —J,EIE? z X ; :1|1 ORx+ 4> 9
@ 21) The letter in an equation is always the _ (@ Sabole. . XLz ar X>5

s
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Name: ﬂ:f,cf

Algebra I - Pest 4 -ttt

1/28/2015 }/7

1) There are two important points with a line. Their general forms are: (0, y) and (x, 0). What is
the name of each of these points? Be specific. L s~ e

2) Write each of the following in standard form. Then, identify A, B, and C for each of the lines
given in the table.

4x+2y=8 |—4y=12x—24| —10x=y+6 |4x—8y—2=0

Standard

Form Uy ry =7 “[x-y=-21] Hox-y=0( Yp-Fy =2
A Y -1 -lp Y
B 2 Y | ~¥
C 3 ~2Y A Z.

3) Fill in the blanks for the definitions of slope:
rise changein _Y __ ¥ —»
~ changein X x,—x,

slope =
run

4) Given the following pairs points, calculate the slope of the line that passes through them.
Leave your answer in fraction form.

a) (0,~6) & (-5,~5) | ¢) (~8,6) & (=5,—7) :f;L
-5

D) (B1D&(5,12) & d) (2,-10) & (2,20) 30
N o @

5) Given the following lines, figure out

what the slope of the lines are.

a)ﬂ

o O

s




6) Use the First Differences to classify each table as linear or nonlinear. 2.

2) Py AN
X 0 2 4 6 (!
% 3 3 10 16 e
- 7 7
e +o +6
b) e ANtz At
X 3 AR 1 v 7 "V 9 [
Y 1 -l L -3 N “ez -
\_/f -—L \.//
7) Write the following in SLOPE- Intercept form. Identify what the slope ancl y-intercept are.
a)l2x—4y=4  ¢=3x-| m=3 | pe-y
b -2y =24x+12 y ="lx =4 =12, =-6.
8) Graph the following lines on
the given graphs.
a) 3x —"4y = 24 5‘7{@
4y -
b)x—-5y=20 4 .
/’, 2= SNE
)
pd
=
£

9) The following points are part of a direct variation relationship. What is the formula for the line
(y=kx) of cach?

2)(515) Y= ESY ) (-3,-9) y=3x
=4 2

10} If you calculate the slope between two points and get zero on botiom, what do you say the

is?
slope 187 et

b) (—6,8) d) (7,2)

11) If you calculate the slope between two points and get zero on top, what do you say the slope

is?
6 L3



Name: &;Z
Algebral ¢

Test 5
2/18/2016

1} Given the following equations, identify the slope and y-intercept.

A)y=x-75 gt M= 1 -‘g-.—._;-
B)y=;x+63 L b=¢3
C)y= .25x+ 2

m: 25 b= 2.
2) Using the information from above, fill the following chart.

Slepe | Slope of a parallel line | Slope of a perpendicular line
Ay ! [ =
B)| 4 Y -2
C)| .25 25 ~4

3) Find the equation of a line in slope-intercept form that is parallel to the given line and passes
p——

the given point. m, = L 7
3 s txth > z2=4pms
A)y=x+5&(3,2) m=l Y73 bf?? b
B)é6x+ 3y=-6&(2,~-1) >
o - - -l Zdx
e met y=R(e0e (b

iy =2, = "2)(1""4’ +=l
4) Find the equation of a line in slope-intercept form that is perpendicular to the given line and
» - —'___—-h-—-
passes the given point. o= -2 I
= - - ' =z (x-4) -
Ny=-2+4&04-1) oL Y=z (x-4) Vet

I
= zx-2 |

B)-4x+2y=2&(8,-3) . _, -
= 2% + | - ':“i(x'g) =3 y="dxs]
}/-_ J"’?z.:—"z"_ =-—,LX +[[ --3' *
5) Fill in the blanks for the definitions of slope: ~ ~
rise  change in % v Y mh

1 = =
Siope run change in X Xz~ X,




6) There are three different ways of writing the equation of a line. What are they called and what
do they look like?

a) § [alm;'_ —interCept /’V =ry Fb.

b)SmM Lo Ax —Hg)/ =C

o) feit—Slppe.

7) Given the following information, write the equation of the line. Use any form you want.

a) slope = —4, y-inter: (0,7)

_ oo _
b) (=5,0),(0,10) M=z =2 V=X +15

8) Given the following points, find the equation of the line that passes through each pair of
points. You may leave your answer in any form of a line that you like. [i.e. slope-intercept, point-
slape, or standard]

4)(0,2)&(512) m=2 = F =2 @
-, 3

9) Lab results: An experiment was done to measure the time it takes for an engine to cool down.
They measured the temperature of the radiator fluid (°F) and time (sec). The best {it line is
given below. The x~ and y-axis start at zero and count up by lens.

a) Label the axes. ‘

-

b) Just like in your HC_‘

' (70/ Mo) experiment, circle @5 N
/ two “nice” points and
(2‘{0.;%0) find the equation of i o~
the line. 12—{<

!ﬁ_ : My
c) After 40secs, whatw ' = .
temperature is the : <

engine? [45¢

d) How long until the — :
engine is 90°F? -“-{"‘

175 scc

i

p 4

L«Q

T /'b_Pr |7 g%y
Yoo 1 o (6 200 226 2
240 40

15




Name: t%
Algebra I&-Test 6
3/22/2015

1) Check if the given point is the solution. Show your work!

a) (—=3,1);y<5x+7 Nt « Sola,
a _Y=x—2/
@) b) (0,=2); [Zx +y=1x Aot a Soln.

' v’
f{y=s6x+11
©) (2.5); {3x~4y> 0 x
e —=¢

2) Solve the following by GRAPHING them. Use graph paper!!

nelE  a Sda.

@ 2 {yy==—;:cx——'{-24 | @’ 'D

y>4x -2
2 { y=2

¢) 2x+5y>10
-Zx ~Zk 7%\?( 2

/
3) Solve the following systems by SUBSTITUTION.

X 2| ==Y (7; 3

L [ y=2x—11 X i =
@ Txhy =4 “Hl{r*:_

\F'—',:_._T
dx+y=10 o . [ -
b {x+y=-3 i+ x‘i'” (-4
~¥%- ~X 1k =
=-x-3 x=1

4) Solving the following systems by ELIMIN

- Ix—y=7
@ 2) _[Ex-l—y=3

Ex=10 X=2Z

%{fxzi’._ 5 1y

Y-‘l[



5) The following four systems are some of the special cases. State the number of solutions for

each system. — 3= 3 o0 Sela,
{y:x+3 A
a) —x+y=3
b) J’=5x"‘? 3%( 7 ‘KX Fig? S‘a'/n.
0 (y+4x =9 Uxts +4x =9 01¢. geln.
ly =4x+5 Ly =
X=5
d) fxﬂ_ﬂ'
x—y——Sm o Sola,
&=

6) For the following stories, ONLY setup a system of equations that could be used to answer the

question.
O A. Justin bought 5 pens and 2 pencils for $5. Hobie bought 2 pens and 5 pencils for $4. How
much does it cost to buy a pen and a pencil? S x4 2y =5”
2Xx+85y = Y
Neu= B. Kristina wants to top Tori’s party. She invites 20 friends. Each friend can either have a
X fy=<co bottle of Mountain Dew or a bottle of Sprite. She spent $46 on pop. Each Sprite costs $2
P
2X4 3}’: ¢ and each Mountain Dew costs $3. How many of each kind of pop did she buy?

C. Angel and Chris are going to try their experiment again. This time they will blow up 2
X4y =12 bottles. After surrounding them with fire crackers, they take off running in different
y_.__ Yy directions. If together they run for 12 seconds and Angel uses a jetpack to go 4 times as
long as Chris, how long does each go?

D. Angel and Chris do not make it away safely this time. In fact, all of Kristina’s friends
(including Kristina) got sprayed with pop or plastic. If 6 times more people get splashed
with pop than with plastic, how many people were hit with pop?

% X+7= ?_J
y=6x



Name: E %«i
Algebral~ Test 7

5/52016

1) A

a) When dealing with radicals, we do not wanta _/ in the denominatoranda &

in the radical.

b) When dividing with the same },7::: 5¢. , you keep the base and __ <uelp frreef the

@j}. fartests

¢) In the radical ¥, 4 is the ;"Arfég .Wesayitisa 9 for ) deal.

d) When writing a number in scientific notation, there should be | digit/s before the
decimal.

2) Simplify the following expressions. Leave your answers in exponent form with positive
exponents.

_I’-»;.‘-. s'!"

Tsxoys 33X il L
{ar Oy o(7) 7
b) 2—3x9y4- * 32x5y-10 R d) (43x9y3 % x2)ﬁ

iy
gx 'Y b6 iy
¥ b X7y

3) Simplify the following expressions. Write your answers in scientific notation.

B10711 -l b) 2.5+ 10° x 7.4 » 1077
BT ETER o
5 Xm.-arn WS‘){ (o

4) Classify the following polynomials by their degree and number of terms.

a) 7 + x? fum‘ffaht bincimlaf c) x + 6% .

! i1q~ !?:[M o j‘.‘l .

b) x? + 3x o d) 24
Cabic blngrmia| (onstaat  monom. ;)




5) Rationalize/simplify the following radicals.

V27 3/ b%@? .%3’3*
XXX

VIS oxy* ok d)z\F-'g L3
3.3 3

6) Fill in the missing number to make the equation true.
2) 327 = 16 7 =l &)

b) 167 = 64

'fﬁ: 6y @

8) Put the following polynomials in standard form and identify the leading coefficient.
a) 9x7 + 3x* — 8x° ~Ext rax? raxt L ()

- L

9) Multiply the following expressions. -
a) x3(x? — 2x) b) x(3x2 — 4x) -
&) (x + 1)(x — 3) d) (x-1)ix2+3x—4)

10) Write the following numbers in scientific notation.

b) 6x% —x3 + 85 — 3x* + 2x1° 0 o 3 et 5T .
ZX7 =3x1 X +HxT+r g Lé@

G

a) 46.2 | . ¢) 1700
X1
DO 7y 5t d) 9510000
% 5] x1p°

11) What does F.O.1.L. stand for?

z—?!qs{—. - _
L:W, x | 3x | -y

soutes xi x| ) -
Firsk - al




Name: Hc’,\/

1/8/2016  *
Algebra [ Quiz
1) Write each of the following in standard form. Then, identify A, B, and C for each of the lines given in
the table.
3x+5y=9 2y=7x+3 1lx=2y~5 |[3x+8y—-1=0
Standard Form | gy o~ =7 | ~7x 12023 | llx=2y 25| 348, =/

Al 327 ~7 I 2

Bl & 2 ~2 5

C q 3 - !

2) There are two important points with a line. Their general forms are: (0, y) and (x, 0). What is the
name of each of these points? Be specific.

Xy ~date
3) Use the First Differences to classify each table as linear or nonlinear. 1
a) < — ~ L
X 0 1 2 3
Y 5 6 8 12
2 Ny N
# * 2 + 7
b)
X 3 4 5 6
Y -4 -1 2 5
/ !L}c‘;’,?

4) I keep preaching about two main uses of algebra in the real world. What are those two uses?

a) Mede | ,‘}-;’7

0 Taliy, Hgs o pot 4 ety

5) Graph the following lines on the

given graphs.
a)2x — 3y =12

byx—y=20

H#
éc;f

N

i




Name:

ke

17152016 (
Algebra I Quiz

1) Write each of the following in standard form. Then, identify A, B, and C for each of the lines given in

the table. .
a)3x +5y =15 |b)2y=7x+14 |c)3x=4y—24 | d)3x+y—6=10
_ | Standard Form | 2, 4+¢ =15 | Txiay=l] Sx —Hy =-29 3xty = 6.
&7 A 7 -7 7 >
B 5 2 ~{ {
C s 1y ~724 G |
}—3‘}'"{4?1:/

2) There are two important points with a line. Their general forms are: (0, y) and (x, 0). What is the

5 . .
G’ name of each of these peints? Be specific. Log -4, Yoo

b{ 3) Using the lines from #1, graph them AND calculate the slope of each line.
D Faz B 47 9 3 d-3
) Gh (207 e
o) (¢)3) 2,0 (V.7 (4,0 (%6 2e) (s¢
( f4) Fill in the blanks for the definitions of slcfpe'? (207 (e¢)
| @ rise _ change in _Y
~uq Cchangein _Xx
- 4) I keep preaching about two main uses of algebra in the real world. What are those two uses?

.235 a) Mi’ { rim;

slope =

b) l’vl H_ ftr"?’ ‘[v’g,e-Hfdff Fex f(,',.—/;? A N P?crf-l“.
5) Given the following lines, figure out
what the slope of the lines are.
Z N
2 / <
/
b & Y/
¥
y
/
/
4




Name: Ké&/

172212016 /

Algebra I Quiz

1) Write each of the following in SLOPE — INTERCEPT form. Then, identify the siope and y-

intercept.
a)bx+3y =15 |b)2y=8x+14 |c)10x=5y—-5 |d)3x+y—-6=10
Slope — Inter y= 2 5 y= Ix+7 rv:;_»._x & v = T3kt
Y-intercept = 7 f c

2) The slope-intercept form of a line is: y=mx-+b. What does the m stand for? What does & stand for?

.C(’q?gi_ )’/— 7 Fe
3) The following points are part of a direct variation relationship. What is the formula for the line (y=kx)
of each? _
a) (2,10) yEEY
r
b) (9,3) y = 3A.

4) Fill in the blanks for the definitions of slope:
rise  changein_Y % =)

swi  changein X x, — X,

slope =

5) Given the following pairs of points, calculate the slope. Leave your answer in fraction form.
a) (2,3) & (4,~5) o ~é: JEpRY

b) (1,0) & (3,10) . -
P — =

4 2.
6) Given the following lines, figure out )J
whalt the slope of the lines are.
a) /5 /l
A1 1

b) u/w(. ’/

/

/

“\‘_




Name: / cﬁg/

2572016 7~

Algebra I Quiz

1) Write each of the following in SLOPE — INTERCEPT form. Then, identify the slope and y-
intercept.

a)bx+3y=15 |[b)2y=8x+14 |c)10x=5y—-5 |d)3x+y—-6=0

Slope —lnter | y=-2x 45~ y= X +7 y=2x + Y ==3x +(.
Slope -2 { 2 -3
Y-intercept S -7 | 6

2) The slope-intercept form of a line is: y=mx-+b. What does the m stand for? What does 5 stand for?

Loa Sleye. by~ ater
3) The following points are part of a direct variation relationship. What is the formula for the line (y=kx)
of each? k - &

a) (2,10) Tz yE5x
b) (9, 3) k=;§: ),:LX

4) Fill in the blanks for the definitions of slope:

risc  changein ¥ B n

slope =,:ﬂ - changein X X; — A

5) Given the following pairs of points, calculate the slope. Leave your answer in fraction form.

) (2,3) & (4,-5) P
b) (=1,0) & (3,10} 2 = =z -1
Sl SR -
S5 Ty
6) Given the following lines, figure out A
what the slope of the lines are.
a) ...{/g =m ﬁ!

b) T /

1.\“




A= 2

.

Name: M !\-39,9’

2/12/2016

Algebra | Quiz

1) There are three different ways of writing the equation of a line. What are they called and what do they
loak like?

a) A& 51‘:,,0&.@{} Form, _/4‘/17' * );f;V =C
b) Slope - intercept < yEmx
c) ﬂ.-h+ ~slype N YNE m (X =X, )

2) Given the following information, write the equation of the line. Use any form you want.
a) slope =2, (—1,4) /,___L[ - z(XH) | or ¥y 2x e

_.l.ii__j

b) (2,10),(-3,25) y —lo = =3(x-2) er  y= Ix FlE

3) Given the following information, write the equation of the line. Use any form you want.
a) slo]’:ve = 3, y-inter: (0, -5) b4 S = 3(k0) or y= 3x ST

J—

@008 Y0 THE) T yEEa

4) Fill in the blanks for the definitions of slope:
rise  changein_ / _eh

I _
SOPE = n " changein _x Xg =&

5) Lab results: An experiment was done to measure the time it takes for an engine to cool down. They
measured the temperature of the radiator fluid (°F) and time (sec). The best fit line is given below. The
x- and y-axis start at zero and count up by tens

11~ 1 ;
b) Just like in your s -
experiment, circle two i KB TN N ;
“nice” points and find the L\ Hoh}— i
equation of the line. ANE L '
ST ; :
c) After 50secs, what ;TL HA> —— s
temperature-1s the en cglne? F‘_ f i
Qg > B erH T
d) How Jong until the engine g1 | - g ——
is150°F2 > )T T
i % o T | g

157 <ec. ELUN L R N E Iede [ ii'ﬁ'_h” B
@ M.

{00 r'ffo - "‘f __'—é
Fo- 30 Z

.
Y —lgon =321 (x ~30)

e

Yy =azix 199 .




Name: ke [
2/26/2016

Algebral Quiz
1) Check if the given point is the solution of the system. Show your work!

2 .
2x+y~1 ﬂt‘-’/”l“ C 5:?{4.
O 2=

) (023

3e2is
= S+ 2=
JICo e

2) Solve the following systems by GRAPHING them. Use graph paper!!
' =

y = -x+ 2 ( _ ) 77 Coslph & feded,
3) { - 4 %5; 1
X+ y= 3 .
b){Zx—y“—*O (1,3)
3) Solve the following systems by SUBSTITUTION. ‘ 3
7 =
) {y=—3x+4 )/**3('2)’*’5) /V_JB‘ v
x=2y+6 = —by-lg 7. 7 21
b {3:1: -y=11

JES ot 05 a sefy,

y il u g
2f 7
~—— /
5y-7x=1 2y 3x -l .
T N = e m -
(2ET5] (37,4p) SCr) W > NI iy sy
4) Hobie bought 4 DVD’s and 2 candy bars for $19. Chris bought 2 DVD’s and 4 candy bars for $15.
How much does it cost to buy a DVD and a candy bar?

4x + 2y =11 Yx 2y =i
—Z(2X iy = 1$) x 4%, 33/ﬂV0 ‘
"';ij(hg'yz =0
( 2y =1f
o "‘b}/:—ﬂ



Name: kfj‘(/

3/11/2016 ¢

Algebra 1 Quiz

1) Check if the given point is the solution of the system. Show your work!

B O-Dif), g Aot o« S,

—2y=5Y .
DD 2, i oa %

2) Solve the following systems by SUBSTITUTION.

[2x—3y=—6 2 (3ytis) =3y = €. (5/ y
a) x+3y =15 x‘:';?)/ﬂi‘ —Gyf 30 ~3y ==

‘ _ Gy = 36
b) [2x ty=-1 2y =xt22-1 (A s) ey

x+y=12 X = 3 '
}/:*Xf‘z y:s.

3) Solving the following systems by ELIMINATION.

- IPERN

{y=—-x+5 Xty =5 (é/ f)
Dax+y=11 —2x-y =)
A .
—Xz 6 K=6

b) {4x—— 3y=-1

3 3x—y=-2 _
_-CI;.l_g-i_: -}—E _ (—*[}"l)
~Sx 2§ x == }’ = -
4) Solve the following systems of equations.
y=-x+5
a)[x+y=5 All )f&gfg.

-1=2x —T
0 01 2x -l ciz2x (Mo e

5) Tori bought 5 DVD’s and 7 candy bars for $35. Angel bought 7 DVD’s and 5 candy bars for $60.
How much does it cost to buy a DVD and a candy bar?

{§x+7)/-:25“

7)('*}'5‘}1 =£0o



Name:

3/18/2016

Algebra I Quiz

1) a) When graphing linear inequalities, you always need to have the inequality in stepe = o rm,
b) When multiplying/dividing by a —) . youhaveto  Se~tely the inequality sign.

c) You have dashed line when there is an (“Or equal to™) or@(multiple choice).
DAy=2isa verticine. (multiple choice)

2) Check if the given point is the solution of the system. Show your work!

(y2 x— 2 - _
i (0:"2);' 2‘2 e
) 2x+y< 1 G-2c) e }’55,
(x~2y< 5 3-72=5 v
b) (3,~ iy, Va7 Lt > Kt a e,
X

3) Graph the following linear inequalities.

a)yz%x—l

by2x -3y < 6
y> 5x =2
4) Solve the following systems. You have to graph them!
y< 4 PP 7
2) [y > -5 7

yz 2x-3
b) {Zx +y< 2
L-ZK+Z
5) Kristina buys dog food for $10 a bag and dog diap#
A) Write an inequality that represents this story.
B) Graph the inequality.
C) What kind of values can you have for this story? (Think about buying DVD’s and candy bars as well)

% Pesetcerg

dhgv / fmt%,,

Ubloe s )/4_‘-_42- F 5

s for $20 a bag. She only has $100 to spend.

10x + Zo)/ £ e




Name: fleo

4/8/2016 /

Algebral Quiz

1) Fill in the blanks:

a) Quotient Rule: When dividing with the same ﬁz‘g ., youkeep the base and ___Seifory i~ the

t.‘?h(ﬁoﬂt::ﬁ.
b) Product Rule: When multiplying with the same ¥z & , you keep the base and Qarﬂgf‘

the ¢~ _%&.,4&{{2 .

c) “Power to a power, you __sg/-+izly  the exponents”
"

2} a) If you do not see an exponent on the base, then you assume it is I (Think x?%)
b) Anything with an exponent of zero is ,' . (Think x%)

c) If something hasa __-(~—) exponent, then you have to reciprocate it.

oy

3) Multiply/divide the following expressions.

il
a) 2x~% x 6x~ 14 /> c) 4x°%y3 » 3x2 12x y?’
X
- . (774
e’ys o 5yt d) (xby 8~ pa
051:"*3!9 ¥ 1 X 7.
4) Write the following numbers in scientific notation.
a) 0.00462 | -3 ¢).0017 s
962 xi10 L7 (6
b) 64000 -y | d) 450000.
6. M X10 Dy v
3) Multiply/divide the following numbers. Write your answer in scientific notation.
a) (8.56 * 107°)(3.29 = 102%) 3.69+10°
¢ 6.98+1073

Zl6 %1677 ==



s

I

J72 5) Simplify the following
1

Name: kﬁ‘/
4/15/2016 ¢
Algebra I Quiz

1) Fill in the blanks:

a) Quotient Rule: When dividing with the same )795‘:;—3 , you keep the base and _& s/ bon . the

efxl@i‘f eﬂ "H’- .

b) Produet Rule: When multiplying with the same _bgc e , you keep the base and @;é/

the SN aeits.

c¢) “Power to a power, you vl the exponents”
Y

4
d) Intheradical ¥V, 4isthe jacex . Wesayitisa 4 for |  deal.

2) a) If you do not see an exponent on the base, then you assume it is I (Think x%)

b) Anything with an exponent of zero is l . (Think x%)

¢) If something has a t ) exponent, then you have to reciprocate it.

3) Muitiply/divide the following expressions. &
a) 5x6 » gx~14 Y ) 7x7%y5 + 3x2 2y
e 7
x ¥ X
2.5
40x3y?20 2y d) (x*y—>)~° 25"
b) y y ) (x7y X
20?C4y9 X

4) Simplify the following radicals.
a) V32 L/JZ ' V9 3

a) 2x=3 X)

2
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Algebra I Quiz

1) Fill in the blanks:
a) When dealing with radicals, we do not wanta _#
radical.

-

in the denominator and a | in the

b) When dividing with the same i?tf S you keep the base and _S cilitacl the c/r,’é’ .

3

c) In the expression X5 the 3 is the_ €X/. and the 5 is the _saler: part of the radical.
d) In the radical V', 4 is the rapleX . We sayitisa 4 for 1 deal

2) Fill in the missing number to make the equation true.

4
a)325 =16 b)162 = 64
3) Multiply/divide the following expressions. / 7
a) 2x'0 5 4x* g ¢ 6x~Sy?x3x2
x4 o

4) Raticnalize/simplify the following radicals.
z
L 11 AN AP
J; 37 @ b) g2 ) d

5) Simplify the following
a) (64x31y9)s b) y/xBy13 2 3y
o I asa
2Ky Y



